R. R. LALAN COLLEGE, BHUJ

Criteria:4.2.4

Year -wise Library Visit Statistics

Barcode Entry of student Student visiting Library are scanned by barcode scanner

DATA stored in SOUL User data stored in SOUL and analysed by Librarian

anarysis and managem

- Maintaining and publishing of data
- https://sites.google.com/view/rrlalanc ollegelibrary/about-us



	Shri R. R.	Lalan College	- Bhuj	
comman 2019 Yearly Average				
Month	Total Users	Working Day	Average	
A STATE OF THE PARTY OF THE PAR	1277	27	47.2962963	
July	1444		65.63636364	
August		22	69.86363636	
September	1537		10 5	
October	117	6		
November	11	3	3.666666667	
December	865	22	39.31818182	
comman 2019 Yearly Average			40.8801908	



R. R. LALAN COLLEGE Bhuj - Kachchh.

Comman 2020 Yearly Average				
Month	Total Users	Working Day	Average	
January	1248	24	52	
February	1343	22	61.04545455	
March	129	3	43	
April			•	
May -			•	
June .	,		*	
July			*	
August		*	*	
September			*	
October			*	
November			*	
December			*	
Comman 2020 Yearly Average		52.01515152		

^{*} Vacation, Corona, Exam



PRINCIPAL R. R. LALAN CULLEGE Bhuj - Kachchh.

	THE RESERVE OF THE PARTY OF THE	. Lalan College		
Comman 2021 Yearly Average				
Month	Total Users	Working Day	Average	
January	0	0	*	
February	24	3	8	
March	134	6	22.33333333	
April	0	0		
May	0	0	•	
June	0	0	*	
July	52	3	17.33333333	
August	712	22	32.36363636	
September	1116	25	44.64	
October	892	25	35.68	
November	319	8	39.875	
December	522	15	34.8	
Comman 2021 Yearly Average			29.37816288	

^{*} Vacation, Corona, Exam



PRINCIPAL R. R. LALAN COLLEGE Bhuj - Kachchh.

Shri R. R. Lalan College - Bhuj Comman 2022 Yearly Average				
January	534	20	26.7	
February	346	11	31.45454545	
March	1704	23	74.08695652	
April .	951	14	67.92857143	
May	0	0	*	
June	323	8	40.375	
July	1640	22	74.54545455	
August	1643	17	96.64705882	
September	2956	23	128.5217391	
October	1488	14	106.2857143	
November	287	10	28.7	
December	1505	25	60.2	
Comman 2022 Yearly Average			66.85864002	

^{*} Vacation, Exam



PRINCIPAL R. R. LALAN COLLEGE Bhuj - Kachchh.

	STATE OF THE PERSON NAMED IN COLUMN	Lalan College		
Comman 2023 Yearly Average				
Month	Total Users	Working Day	Average	
January	2251	20	112.55	
February	2686	23	116.7826087	
March	1597	18	88.72222222	
April	0	0	*	
May	0	0	•) = 1 (= 1) (= 1)	
June	186	7	26,57142857	
July	1750	23	76.08695652	
August	3420	24	- 142.5	
September	2633	21	125.3809524	
October	1748	19	92	
November	26		13	
December	961	22	43.68181818	
Comman 2023 Yearly Average			83.72759866	

^{*} Vacation, Exam



PRINCIPAL R. R. LALAN COLLEGE Bhuj - Kachchh.









